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4488 = 34 = 5670 + 45 = 20412 + 63 =
349000 - 7000 = 762000 -11000 = 892000 - 23000 =
Write 0.1 as a percentage = Write 0.4 as a percentage = Write 0.06 as a percentage =
3 7 4 3 8 3

-4 —= — 4 —= — + 1 — =

5 10 7 4 9

A4x3x8= 4x5x12= 12x10x9 =

Find 40% of £700 = Find 51% of £700 = Find 87% of £700 =
0.62 +1.64 = 7.09 +0.01 = 27.7 + 13.081 =

8 3. 5.1 7.3

10 10 6 2 8 4

14 x 4402 = 23 x 1754 = 46 x 3852 =

25+ 1853 = 275+ 952 = 8752 + 1851 =



4488 + 34 =132
349000 - 7000 = 342000

Write 0.1 as a percentage =
10%

3,7 _13_.3
5 10 10 10
4x3x8=96

Find 40% of £700 = £280

0.62 +1.64=2.26
8 3 _5_1

10 10 10 2
14 x 4402 = 61628

25+ 1853 =1878

5670 +45=126
762000 - 11000 = 751000

Write 0.4 as a percentage =
40%

4,3_37_.9
7 4 28 28
4x5x12 =240

Find 51% of £700 = £357

7.09+001=7.1
5 1_2_1

6 2 6 3
23 x1754 =40342
275 +952=1227

20412 - 63 =324

892000 — 23000 = 869000
Write 0.06 as a percentage =
6%

2112-12-52%

9 5 45 45

12 x10x9=1080

Find 87% of £700 = £609

27.7 +13.081 =40.781
7. 3_1

8 4 8

46 x 3852 =177192
8752 + 1851 = 10603



